

Today's presentation * Importance of livestock in CA agriculture * Potential risks posed by livestock * Methods to reduce potential risks • Reduce pathogens in animals • Minimize transport and viability • Removal of livestock? * Discussion and conclusions













		_+++++	+ +
Pathogen A	nimals?	Pathogen An	imals
Salmonella spp.	Yes	Shigella spp.	No
Campylobacter spp.	Yes	Leptospira	Yes
E. coli	Yes	C. parvum	Yes
Helicobacter pylori	Unk	Cyclospora spp.	Unk
A. hydrophila	Yes	Giardia lamblia	Yes
Yersinia spp.	Yes		
Vibrio spp.	Yes	Entamoeba histolytica	Rare
Brucella	Yes	Balantidium coli	Yes
Mycobacteria spp	Rare	Toxoplasma gondii	Yes



Cryptosporidium parvum in certain domestic and wildlife species in California.					
Species	Oocysts/kg	Kg feces/day	Oocysts/day		
Beef cow	150	40	6,000		
Beef calf	150,000	4	600,000		
Striped skunk	2,800,000	0.05	140,000		
Ground squirrel	6,500,000	0.012	78,000		
Coyotes	205,000	0.2	41,000		
YB marmot	10,400,000	0.02	208,000		



























	Range of	of E. coli	concentr	ations		
A CONTRACTOR		Minimum*	Median*	Maximum*		
	Pasture effluent	420	5,400	158,000		
	Wetland effluent	10	1,283	74,600		
	* cfu / 100 ml Percent reduction of E. coli ranged from					
	33%	to 91%, with an Sustainable Ag E	0 0	%		



Irrigation management

- As irrigation tailwater runoff rates increased, E. coli concentrations increased both above and below the wetland
- Higher runoff rates increase the tailwater's capacity for pollutant mobilization and transport

stainable Ag Expo, 11/02/0

LCC.

ECD



Irrigation management

- * At high runoff rates, filtration capacity becomes overwhelmed
- # Increase in tailwater runoff rate corresponds to a decrease in hydraulic residence time, which reduces time for processes which reduce E. coli concentrations, such as exposure to sunlight and predation by other microbes

Sustainable Ag Expo, 11/02/07

Pasture grazing management *E. coli* concentrations in tailwater were highest when cattle were actively grazing during an irrigation event * As rest time between grazing and irrigation increased, E. coli concentrations decreased (but not a linear relationship) KO CO

Sustainable Ag Expo, 11/02/07

1. 7. 1. 7. 1. 7. 4. 7. 1. 4
Predicted E. coli in pasture tailwater
6,000 2 5,000
The 5,000
ing 2,000
$ \begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \end{array} \\ \end{array} \\ \end{array} \\ \begin{array}{c} \end{array} \\ 0 \\ \end{array} \\ \begin{array}{c} \end{array} \\ \begin{array}{c} \end{array} \\ \end{array} \\ \end{array} \\ \begin{array}{c} \end{array} \\ \end{array} \\$
Days rested from grazing prior to irrigation
Sustainable Ag Expo, 11/02/07



Irrigation management During an irrigation event, *E. coli* concentrations initially spike, then decline As irrigation event progresses, the tailwater volume increases and dilutes the *E. coli*As the first irrigation water flows, it flushes the readily mobilized and transportable bacteria from the pasture To accurately characterize *E. coli* concentrations

To accurately characterize *E. coli* concentrations need to take multiple samples

Sustainable Ag Expo, 11/02/07

LCC.















Conclusions

- Grazing land management strategies available to limit zoonotic potential
 - avoid overgrazing, proper fencing, develop wetlands, strategically plant shade trees
- Once defecated, pathogens must survive and get to water in order to be a human disease threat

Sustainable Ag Expo, 11/02/07

* Benefits of grazing should not be overlooked

ICDE .



